[Mnowaab Kpyra

7
S0=xh/2

S m=n*S0=
=n*xh/2=
=(nx)*h/2=
=P_m*h/2->
->2PR * R/2 =
PRA2

n=8

P_m->C=2PR
h->R

lim[x->00]((5-5x)/(2x2 - 9x) =
lim[x->00]((10x"2 + 4x - 3)/(5x2 + 2x +1) =
lim[x->00]((10x*3+ 4x - 3)/(5x*2 + 2x +1) =
lim[x->3]((x"2-6x+9)/(x-3) =

lim[x->3]((x-3) / (x*2-5x+6) =

lim[x->00]( (x"2+4) * 1/(x-3) ) =

lim[x->00]( (x"2+4) * 1/(x"3-5) ) =

O/4mcno=0
yucno / 6beckoHeyHocTb = 0

yucno / 0 = 0ecKOHeYHOCTb

0/ 0 = HeonpeneneHo

00 / 00 = HeonpeaeneHo

070= HeonpegeneHo

CeMb CMEPTHBIX IPEXOB



